TRieaR T YR & R S A B e 78 WEd 2 3R 3 %967 wfid OMR SR vie 3t e Tden gRa®I . :

Candidates should open the top side of the seal of this Booklet and take Test Booklet No. :
out the OMR Answer Sheet placed between page no. 2 and 3.

uﬁaﬂgﬁ?@‘rw: 1 1
M2-R5 : WEB DESIGNING AND PUBLISHING Test Booklet Series :
fererifRa wor : 25 3iférepae 3 : 100
Time Allowed : 2 Hours Maximum Marks : 100
e . IR Me A
Roll No. : Answer Sheet No. :

TeE & ITR I A Use fereetterisia srgfaei @1 &mer A ug of |/ Read the following instructions carefully before you begin to answer the questions.

3FIGarRi & feTu argaer

Instructions to the Candidates

1.

No

yeell & 3R feTrel 3R el A Usel 31U § YRA®T Bl oirg
Fh Jhafdad &2 of 5 sa9d g¥ oo (24) ¥ den &g g A
AP HOT HH AT GART Al &l 31 IR & | IS 377 3 gRaamsr &
BIS A U, AT debler SAP Tact GH GRabT of |
STTHSTR ITR-2fie Uea gReamt & & 3uce 297 | Hu=n Jrerfeaa
& {6 AR ofic T 3R wherwr gRaw ww Jae E
3MTHA3MR 2fic TR SEBR! IR A Usd 3NTANR M ©R Bu
ferdel @ eTel A US| 31U INTHIR Ia3-Usles Uz Aail ferazol
BN AE T A T IR PBIS HAT 8191, VAT o PHel UR 3T TR
YR B FHeide T2l b oI JhdT ¥l TSN BT IR Al Y
B A Ul 3Uh! INTHIR IaR-UsTep TR & 91w fereriia enmer
TR 370U EIA1GR B 89T | g1 ferdell 1 gof U A uretsr fopen
ST AfET, AT F B TR US! NTANR IAR-GRaAHT B
FcIhel &l pa ST A &
3 Ueat-gRde & Her 100 Tgfasedia yea &1 o 3 fadl v
3i3reh Slal sl & Sucter & | Ui uee & 4 ey R owE,
(A), (B), (C) 3z (D) | Tt oft Rarfay & Ues weal HI Badt UH
e & FE IAT S| e 3MUhT Ueh A 31fers fadbeu A& oo ar
T 31T 3T U fIhey &1 gerra &2 3R IR e o Feafea
UE & ATHS ATl IUYET Oifel bl Bl B |
Ui AL IaT b feT0 1 31 T SIwar | Iretd 3= & foiu @is
APRIHSD 3idel o8l &
MY T BT B &b [oTU bact blat/eilet dict WIse Uel BT U
B3 | et B T TR BIAT el b dT SAH! [Tl AT dectel Bt
ST o & | ATe [pAt Teet b ATeTel Teb A SATGT 91led et (e
70 & ar HefieT g1 39 10 e 3iss fearm smeoT |
fepaft off Rerfa & 3av ofie o1 & A
IAR-YRABT TR B off T BTt ol weell & | 3% B F o 52
gt & vermer = o B
TSN FeA/BFN H AATgel Wiel dol IaR AR Alerel Gt e
eIt & | 3eefieary @ 3e0b 3ual fad & Haie & wirdl & b
TSl B/t 31 IR AR ATere bl g 316 Bp oft
370 UTA & TS | $A YTGETS BT SUTelel o HIel Bl Uam 3
sigfad Ul T =97 AT SR 3R 359d fa5g wrfdd &
SITEoN, TorAe 3oTeh! Ieailedars) g e off onfdeT 21
3raeft 3ruelt 3wR gRawT widere H AT fem iR e Je
saw & A 3Rrd T2rme R IulRifa s R gEaer e foen
et Eict/der A e S8l off APbdTl SHb 3ietrar 373efl Py
uRafa use ur w=deR Be A usd I8 oft Fghafdaa ween
aifae 5 gaeie daR, gaaie AW AR 3NTANR TR gRa®!
TE TE 301 A forsht ot A1 U A B R, INTAIR TR
B AT ATAT SCON/FeATH T& BT T ABaT & |

10. Tifs & Tzm=or & B oft </ fodorfer o ST 3, & 3 3raRen

H 37ISi HATBI0T & A B |

1. Before you start to answer the questions you must check this booklet
and ensure that it contains all the pages (24) and see that no page or
portion thereof is missing or repeated. If you find any defect in this
Booklet, you must get it replaced immediately.

2. OMR Answer-Sheet is within the Question Booklet. Please
ensure OMR Answer-Sheet number and Test Booklet No. of
Question Paper are same. Read the instructions printed on
OMR Answer-Sheet carefully before filling the information
on the OMR Answer-Sheet. You must complete and code all
the details on the OMR answer sheet correctly, failing which
your answer sheet may not be evaluated. You must also put
your signature on the OMR Answer-Sheet at the prescribed
place before you start answering the questions. These
instructions must be fully complied with, failing which, your
OMR Answer-Sheet may not be evaluated.

3. This booklet consists of 100 Multiple Choice Questions and are printed
in Hindi and English language. Each question has 4 (four) alternatives
(A), (B), (C) and (D). In case if you find more than one correct
answer, then choose the most appropriate single option and darken
the appropriate circle in the answer sheet against the related question.

4. Foreach correct answer One mark will be given and no negative
marking for incorrect answer.

5. Use Black/Blue ball point Pen to darken the circle. Answer once

darkened is not allowed to be erased or altered. Against any question

if more than one circle is darkened, machine will allot zero mark for
that question.

Do not fold answer sheet in any case.

No rough work should be done on the Answer-Sheet. Space for

rough work has been provided in this booklet.

8. Mobile phones and wireless communication devices are completely
banned in the examination hallrooms. Candidates are advised not
to keep mobile phones/any other wireless communication devices
with them even in switched off mode, in their own interest. Failing to
comply with this provision will be considered as using unfair means in
the examination and action will be taken against them including
cancellation of their candidature.

9. Candidate should not leave the examination halllroom
without handing over his/her Answer-Sheet to the invigilator
and without signing on the attendance sheet at proper place
against your roll number. Further candidate should also
ensure that booklet no., booklet series and OMR Answer-
Sheet No. are correctly written on attendance sheet before
signing on it, failing in doing so, may lead to disqualification/
no evaluation of OMR Answer-Sheet will be done.

10. In Case of any discrepancy found in Hindi version, English

No

version will be treated as final.
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® H Hirawd #it dfere Jemse W w1 72
(A) TRIRE-THA

(B) SRUTES-UISHEA

(C) THRURS-H

(D) FhIEE-TEE

Which is not a valid Background property of
CSS ?

(A) background-image

(B) background-position
(©) background-color
(

D) background-iterate

W3.CSS o = | =1 Wel T8l & ?

(A) WB3.CSS Tah 3TYfTeh, ITEMT, Hiemsd &l
el Huaed e ©

(B) W3.CSS |+t 9srll o faq ¥ J&H
XGRS

(C)  WB3.CSS asft Iuehuli o faT FHMaT I8
EZGIE

(D) W3.CSS U Huaed =&l &
What is not true about W3.CSS ?

(A) WB3.CSSisamodern, responsive, mobile
first CSS framework

(B) WB3.CSS provides equality for all
browsers

(C©) WB.CSS provides equality for all devices
(D) WB3.CSS is not the standard CSS

el fReT TeltHe H SoRe i Tt
Ut 1 S T T STA el B
(A) text-first

(B) text-indent
(C) first-indent
(D) text-first-indent

The property allows to indent the
first line of text in an element.

(A) text-first
B) text-indent

first-indent

D) text-first-indent
gafeTs HTML e o1 T |
(A) unload (B) load
(C) onmouseout (D) onmouseover
Identify the invalid HTML event.
(A) unload (B) load
(C) onmouseout (D) onmouseover

W3.CSS Trefafed dret el YgH T8l il ¢ :
A) TB-STE-AT

(

(B) T&I3-ATSL-T3
(C) T=Y3-ATSI-dlH
(D) TT3-TME-TH

W3.CSS does not provides the following
border class :

(A) w3-border-top
(B) w3-border-right
(C

(D

) w3-border-bottom
)

w3-border-gutter
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HTML 5 ¥ 9191 7T <input> T TeAHe ol Tga™
HY?

(D) SR H ¥ HE Tl

Identify the valid new <input> tag element
in HTML 5 ?

(A) email
(B) letter
(C) fax

(D) None of the above

Torsit STTerT bt WA o Tk Toa AT ol T&qd
T AR ST gfafafac 0 & fag fem S
ST femarn ST 2

Which tag is used to render and represents
an independent piece of content of a
document ?

(A) Blog (B) Newspaper

(C) Article (D) Record

BEREFZ T gl

(A) TR F T TR TR EEA

(B) 1000 WIS § 31f¥eh 1 TR

(C) e fod 1= Tieff & feieh wnfe €
(D) SR H ¥ HIE T

Hypertext is a :

(A) Text with heavy text jargons

(B) Text more than 1000 words

(C) Text which contains links to other texts

(D) None of the above

forg UM SR kT YA <1 U & &=
THEA & TI-G1Y T2 &l @ieH & fau feran
ST g ?

(D) W § | HIE Tl

Which comparison operator is used to find
equality of type as well as content between
two variables ?

(D) None of the above
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10.

11.

12.

T ¥ HIF WER JS % fou A1 wem 72 €2
(A) TE TH SETEhe FHeh §

(B) W <script> T T ITANT Hh SISl STl

H
(C) I= C H foman 7o & THash ©

(D) WIeR JS HTML forwarsii =1 foredR e
s

What is not a valid statement for Angular
Js?

(A) Itis a JavaScript framework

(B) Itis added using <script> tag
(C) Itis a framework written in C
(D) Angular JS extends HTML attributes

W3.Table <ol o ferg fe =erme
T TE B B |

(A) w3-striped (B) w3-stripe

(C) w3-border (D) w3-bordered

W3.Table does not provide the following class
for tables.

(A) w3-striped (B) w3-stripe
(C) w3-border (D) w3-bordered
Aete++ § B M FAIX IR ¢ 2

(A) ASCII to HEX

(B) ASCII to OCT

(C) HEX to ASCII

(D) (&) #TR (C) =T

Which converter is present in Notepad++ ?
(A) ASCII to HEX

(B) ASCII to OCT

(C) HEX to ASCII
(

)
D) Both (A) and (C)

13.

14.

STTEMfEh e H TeRTaH 9ae ST

T

B) %

© =

(D) SR H ¥ HE Tl

Exponential operator in JavaScript is :
(Aa) A

B) %

@ *

(D) None of the above

Aferre foier 1 T 92 I T ST

ek afefea feran T 71

(4) <a>

(B) <nav>

(C) <href>

(D) ST § § HIE Tl

A set of navigation links is defined using tag :
(4) <a>

(B) <nav>

(C) <href>

(D) None of the above
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15.

16.

& fer

IS HIaIehicl k1 ST

ERIESIGIEA

(A) WEd Hi fesmea iR S @ w3

(B) =€ femr ¥ 4= AHN § R FiEdl &
T

(C) TSl hl WS TH T & o fag

(D) R | FIEE hl X Tgall o TR0
File protocol is used for

(A) deciding the design and structure of the
tile

(B) transfer of computer files from hard disk
to main memory

(C) deciding the storage space of files

(D) transfer of computer files from a server
to a client

Teh UM A3 TeATHe § Sl hig
TS BT Tl o] el
(A) div (B) span
(C) color (D) width

is a generic inline element that
applies no inherent formatting.

(A) div (B) span

(C) color (D) width

17.

18.

TIe-Tfef TideaeR i foviudie 1 qgam
ey

(A) TR

(B) Ye-313 {3t

(C) it

(D) STl |l

Identify the features of photo-editing
software.

A) Air brushing
B

~—"

(
( Red-eye removal
(C) Cropping

(D) All of the above

A 91 fhet B =1 fie = & fau v g
T TfF fhee Siigd a1l BRI & faemr ®
amenfa &2

(A) S e
(B) Il fiReeX
(C) smfdfies fier
(D) 7 9 #E off 7

Which Filter is based on the idea of
photographers adding colored filters to the
camera lens to tint the photo ?

A) Image Filter

B) Photo Filter

~

C) Artistic Filter

(
(
(
(

D) None of the above
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19.

20.

21.

HTML % <label> 31 % o & &1 9al 721 8 ?

(A) % i et ¥ o T S ) wre
T ®

(B) ®hHA-TeX IwANTRaiatl o fore 3wt
(C) Tfearfya IuarTehaisll o forg S
(D) W H 9 &5 Tl

What is not true about the <label> tag of
HTML ?

(A) Defines a label for many form elements

B) Useful for screen-reader users

Useful for visually challenged users

D) All the above

A e #t sl § e 1
(A) IEd & (B) HIUHTH &od
(C) e &ed (D) RS &9

The body of the style sheet includes

(A) Style rules (B) CSS rules

(C) Sheet rules (D) Format rules

SGML %1 319 ¥ :

(A) HSIAM TRARSE HHSTT AT
(B) TeITEM Taleel HehaTd AT
(C) Teg TS HIHSTT oSt
(D) e Mfthehed AIhTT THTarst
SGML stands for :

(A) Standalone
language

generalized markup

(B) Standalone global makeup language
(©) Standard generalized markup language

(D) Standalone
language

Graphical markup

22.

23.

IR T T T STAN & forg

fopa ST €

(A) T g3 ARt

(B) HhI S

(C) U & X & foed & g
(D) T ¥ i off 7

Rectangular Marquee tool is used for the
purpose of :

(A) Floating the marquee

(B) Creating marquee

(C) Selecting portion inside image
(

D) None of the above

Teh ST Fol AU SURT it 379 &3
o RO 3 T o T 99 ¥ 51 & S
T YA HTE

(A) § o

(B) a1 & o

(C) AT Hd g5

(D) T ¥ i off 7

An online information retrieval tool that uses

the data of a web search engine to produce
its own results :

A) Search Engine
B

~

Meta Search Engine

(
(
(C) Mega Search Engine
(

D) None of the above
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24, 1 G giadl # fifed oo &l egafa €2 | 26, &N W Ui TSRem TE § S Aede++ |

Hio[E T € 2
(A) o B) &
(A) MD5
(C) TEFgTHd (D) SV IHAT T (B) SHA-256
Are the negative values allowed in padding (€) MD6
property ? (D) (A) ¥R (B) 2

(A) Yes (B) No Which is not an encryption algorithm not

present in Notepad++ ?
(C) Cannot say (D) May be

(A) MD5
(B) SHA-256
25. A ISR AR HE hl WIARES TelHe W o (C) MDé6
g:?"%?ﬁi TSI Qs 3 S (D) Both (A) and (B)
(A) I AR 27. T ¥ f W et g e e S
(B) TR et ATl Bt Ued
(A)  wie Fmm
(©) @I
(B) &R fersnl
(D) s 8 (C) Wi Hreret Hifean wHifd
The pseudoclass is activated 3
when the user moves the mouse cursor over (D) aHl

th ified el t.
© Speciiied clemen Identify benefits that are provided by Photo

) Editing for Business.
mouse over

(A) Brand Building

(B) mouse hover
(B) Better Sales

(C) hover (C) Robust Social Media Strategy

(D) mouse move (D) All of the above
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28.

29.

W3.Table H YX&qiHe Zocil o X H hi= 9T heMd
T T 82

(A) w3-TEIT-Ta FE Th SAGRT dqTerhT
EEIIE

(B) € BI T R Afdsl ¥4 ¥ Bhicd Hidl &
(C) w3-2ac FATE Ueh Xif~gel Zaiet ST §
(D) = BhIF W, g SR T ¥

Which statement is not true about responsive
tables in W3.Table ?

(A) wB3-responsive class creates a responsive
table

(B) It scroll horizontally on small screens
(C) wB3-table class creates a responsive table

(D) on large screens, there is no difference

T H 39 HY T 9 € 2

(A) 9T H T SISl S ¥
BEEEREEIGIEISISIGIE

(C) & &1 ¥ THg el Sl &

(D) T ¥ HE off 7

How are tones created in Images ?
(A) When grey is added to a color
(B) When black is added to a color

(C) When white is added to a color

(D) None of the above

30.

31.

IR e o IR H I 99 ¢ ?

(A) AR qd T ¢ 99 WEed & Th
YA, Teh olgeh I Ueh SUANTehdl TSI
(59, T & ER) G ARG fora S
kel §

(B) W“m”,m@mﬂﬁﬁ%

(C) TeHeH #1 3ifad @WEd &3 aldhi 9
TRt wrged o Gare W At e ©

(D) ISR Tsie g IRWIG wrEed IR g1
R wrred W gEd ot §
What is true about Conflicting Styles ?

(A) Conflict occurs as styles can be defined
by a user, an author or a user agent (e.g.,
a web browser)

(B) Styles “cascade,” or flow together

(C) Ultimate appearance of elements
depends on a combination of styles
defined in several ways

(D) Styles defined by the user agent take
precedence over styles defined by the

user
W3.css H afeeh feree &t 9gam &l

(A) w3-ol (B) w3-border
(C) w3-center (D) W qeff

Identify the basic lists in W3.css.
(A) w3-ol (B) w3-border

(C) w3-center (D) all of the above
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32.

33.

“pents’’ ok S H ITerd HHAT St GgEH i ?

(A) FenisT YU B § ST 99-FATEE o IhSS
H =o€

(B)  FpohIST H IUANTehIS ohl TTI=T2rdl k1 &6
FH F T ST fRT ST 1 amar §

(C) ATemeA Wi w1e Tftetehym, Jafaasd
Trea faesfad & iR JemEd W faamm
T ITANTHATA! W TSR WA H Fohial agd
HEETR &

(D) Tt H 4 Kb & 31ferer a1 7 &1 wehell

Identify the wrong statements about
“Cookies” ?

(A) Cookies are programs which run in the
background of the web-client

(B) Cookies have the potential of being
used to violate the privacy of users

(C) Cookies are very helpful in keeping
track of users in developing online
shopping cart, applications,
personalized portals and in advertising
on websites

(D) Cookies cannot contain more than 4 Kb
of data

<iframe> T & I H hi T Tl & ?
(A) I8 TTCIEA TR §

(B) frdll 3= @S I IdHM TIAITATA
SO | TS i

(C) g T
(D) (A) 3R (B) 3 W&l €

Which is true about <iframe> tag ?

(A) Its inline frame

(B) Embed another document within a
current HTML document

(C) None
(D) Both (A) and (B) are true

34.

35.

TIEA FATH o o H 1 Tt RN © 2

(A) had wEd e H aReria fafire wetbe
TR R A BN §

(B) iferai st gieifi @i 5= forelt off wettie
TR AR fohan ST Heha ©

Q) REA-FA SHNIH SRR H Tt Bt

€

(D) WEA-FIH SHFILH TH Hfae & wga
=l §

What is not correct about the Style class ?

(A) Apply only to specific element types
defined in the style sheet

(B) Define styles that can be applied to any
element

(C) Style-class declarations are preceded by
an underscore

(D) Style-class declarations are preceded by
a period

3. Hi< H T fewhice Wi ol ugar o :
(A) e T

(B) T

(C) e

(D) ST § § HIE Tl

Identify the default font used in W3.Font.

A) Times New Roman

B) Arial

~

(
(
(C) Verdana
(

D) None of the above
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36.

37.

38.

SENfEhe | Teh TeAtHe sl

hieh TaY fohar S Tehar § 1

T ST

(A) getElementsByName
(B
(
(

~—

getElementsByld

@

) getElementsByClassName
D) ST |t

An element can be accessed in JavaScript
using :

(A) getElementsByName

(B) getElementsByld

(©) getElementsByClassName
(D) All of the above

HTML 501 % A <l Tfeteher
T 9 S B
(A) ng-app (B) ng-init
(©) ng-model (D) ng-controller

binds the value of HTML controls
to application data.

(A) ng-app (B)
(C) ng-model (D)

ng-init

ng-controller

HIF | A TS HFH Aede++ § SR T8

g2
(A) ANSI (B)
(C) UTF-8 BOM (D)

UTE-8
UTF-16

Which is not a valid encoding standard not
present in Notepad++ ?

39.

40.

41.

WIeR JS TfeteheM i 3HREeEsS & o1 s
(A) ng-app

(B) ng-init

(C) ng-model

(D) W H 9 &5 Tl

Directive to initialize Angular JS application :
A) ng-app

B

~"

(
( ng-init
(C) ng-model
(

D) none of the above

FIER AHAR W o1 o wfmfea
JoRZ i WEifehd il |

(A) <i> (B) <ins>

Q©) <u> (D) <em>

Browsers will usually underline inserted text
in the tag

(A) <i> (B) <ins>

Q) <u> (D) <em>
sTfeTS S0 et 1 TEaH |

(A) HI¥H &R (B) T
(C)  fereiienrs (D) wreffewE

Identify the invalid image filter.

(A) ANSI (B) UTF-8 (A) Motion Blur (B) Plastic Wrap
(C) UTF-8 BOM (D) UTF-16 (©) Liquify (D) Solidify
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42.

43.

44.

<del> TeliHe 39 TR 1 IR & & 59
frelt Sfegie | g1 faan o 81 oSR3I

w9 H JRRia e 2
(A) o T (B) EIEHY
(C) dee (D) =ih HeR

<del> element defines text that has been
deleted from a document. Browser display
them as :

(A) Red color (B)
(C) Bold (D)

Strikethrough

Black color

w3-container a9 Tl st HTML QFﬁ'EIE i
(A) 16px left only

(B) 32px left and right

(C) 16px left and right

(D) 32px right only

w3-container class adds a padding to any
HTML element :

(A) 16px left only

B) 32px left and right

16px left and right

32px right only

FeamE bt 90 el actterargst SHM & fore widehe
EQl| |

A) CTRL+Shift+0

B) CTRL+AIt+Shift+0
C) CTRL+Alt+Shift+F10
D) CTRL+AIlt+Shift+10

Shortcut keys for rotating canvas 90 Degree
clockwise is

(A) CTRL+Shift+0

(B) CTRL+AIt+Shift+0
(C) CTRL+AIt+Shift+F10
(D) CTRL+AIlt+Shift+10

~

(
(
(
(

45.

46.

SITATH 59 Hel skl 1 1 § ?

(A) T fafere oEdt Tgw § SHA AMl &
A T

(B) T faftre ISR wgw & WA M FI
HIAR T

(C) T faftre Jddt & <A Tl 1 IR
AT

(D) T faftre Twid vgw & <A Tl &
AT Tl

What is the task of DNS Name server ?

(A) Translating domain names into a
specific IP address

(B) Translating domain names into a
specific UDP address

(C) Translating domain names into a
specific TCP address

(D) Translating domain names into a
specific FTP address

A 9 g fafifia @ 7 T § 2
(A) THAT-9%E
(B) STHAMT-Th
(C) ehidedt T
(D) feshided ¥=

Which is not a main built-in search
mechanisms ?

(A) dialog-based
B

~—"

( dialog-free
(C) Incremental Search
(

D) Decremental Search
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47. SHRIHY faRAn 1 STNT fohd Tefie Wik | 50. & &1 99 CSS YR T § 2
ST TRl © ?
(A) e (B) TG
() == (B) e
(C) s (D) TS
C) foaw (D) STl |l
Which is not a valid CSS type ?
Autofocus attribute can be used on which
element ? (A) Inline (B) External
(A) Button (B) Input (C) Outline (D) Embedded
(C) Select (D) All the above
51. el S fordlt TST 1 o Hol T dedE B
48. TEEM H fF <section> TelHe H1 ITATT el T H TEE T ©
feran < Tehar 8 2
g (A) 3= ufd
A) =ed B) IISRM .
(4) ®) (B) = BIfET
(C) IS 3A1ZeH (D) W qf ,
(C) 3 HIhfeT
Identify where a <section> element can be
used. (D) 3 ety
(A) Chapters (B) Introduction Service which helps an organization to host
(C) News Item (D)  All the above a website on the Web Server :
(A) Web Service
49. 3NETE fae H oTemT-3Ter eTged oy e & 2 (B) Web Hosting
(A) LI (C) Web Marketing
(B) UL (D) Web Publishing
(© o1
(D) ST H | &IE &l 52. oI 91 Sfed U1 78 © 7
{—Iow to specify individual items in an ordered (A) @ (B) R
ist ?
(A) LI (C) HHg (D) o
(B) UL Which is not a vibrant color ?
(© oI (A) Red (B) Orange
(D) None of the above (C) White (D) Purple
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53.

54.

55.

W3.Image T HIF U Fd W T 7, TEAH
|

(A) w3-round (B)
(C) w3-border (D)

Identify which is not the correct Image Class
in W3.Image.

w3-circle

w3-oval

(A) w3-round (B) w3-circle

(C) w3-border (D) w3-oval
rifen o R ¥ e Tl
HHE I Teh WY TR HET |

(A) tag (B) class

© id (D) div

To cluster a group of elements together to
apply formatting

(A) tag (B)
C) id (D)

class
div

CSS # TeHIege WifsmIt o foae w&l % &t

TEaH &Y ?

(A) T8 T SeeR feifa dfsef &

(B) ¥ TsIee R 1 aReE 5
foe Hieeme &t Nfsee w1 ST
F T

(C) g 3ATerd 1 UelHey &l YRfid & &
T T e frefn @ §

(D) SWe | ¥ HE off o w7 §

Identify the correct statement for Absolute

Positioning in CSS ?

(A)

(B) It uses the position property of CSS is
used to define absolute positioning

It is a browser determined positioning

(C) It gives authors greater control on how
elements are displayed

(D) None of the above statements are

correct

56.

57.

58.

gfafshamia fire # foram siem wwfa €2
(A) 10 (B) 11
) 12 (D) 13

How many columns are supported in the
responsive grid ?

(A) 10 B) 11
©) 12 (D) 13
39 fetre § Safehe &t o1 Jffaw § 2

A) et ¥ e w1 R e &
B) SISl b wleTse ffds e §

C) At % fersfer b1 wom o ¥
D) SR ¥ § FIE T

What is the role of JavaScript in web design ?
(A)

(
(
(
(

define the content of webpages
(B) specify the layout of webpages
(C

(D

) program the behavior of webpages
)

none of the above

i | oY T T 9 TRl © 2

A) AR

B) WIEUS

C) Tz

D) SHeH

Which is not a valid meta search engine ?

(A) Yahoo

(
(
(
(

(B) Startpage
©)
(D)

Excite

D) DuckDuckGo
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59.

60.

TR 3G, ok TR IR SR TR i T8dH
& & fag 1 ST feoha S T

(A) ¥ TR
(B) 3 TSH
(C) THHe Eeer
(D) TRM R

are used to identify user input,
user action and browser actions.

A) Input handler

B) Event handler

~—"

C) Document handler

(
(
(
(D) Action handler

forares e 2 o1 START
% fau feman St €

(A) AT HereRM
(B) U HolRH

(C) THS & AR &1 g2 3IR =@ &l wrenfera
w99 I 3

(D) T ¥ HE off 7

Quick Selection tool is used for the purpose
of :

_ HxA

(A) Copy Selection
(B) Paste Selection

(C) Find image edges and automatically

61.

62.

CSS % T Hied & IR T I 9t 8 2

(A) I8 TolHe™ & 91 3R ©id 1T a9
ST 1 IR e §

(B) UHH UeAHe 1 Hhee shad Ufen ¥ oy
61

(C) UAF TaiTHS I hee hod Teh arel 4

e gen ®

(D) Uk TEHHE 1 The< haal Teh HifsiH o
g e

What is true about the Box model of CSS ?

(A) It defines a virtual box drawn around
elements

(B) Content of each element is surrounded
by padding only

(C) Content of each element is surrounded
by a border only

(D) Content of each element is surrounded
by a margin only

Css 2 # ufeufaad Tora Hifesn ghR & qg9E
T ?

(©) ufera (D) fie

Identify the incorrect media type defined in
CSS 2.

stops the selection (A) Handheld (B) Braille
(D) None of the above (C) Arial (D) Print
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63.

64.

w3-color 3 w3-text-color AT H1 ST

I FHeR HH & fau fran s geahan
T
(A) IS THATATS TeAHe
(B) Faa efEm

(C) had TTH TaltHe
(D) had oA TelHe

w3-color and w3-text-color classes can be
used to color :

(A) any HTML element
(B) Heading only
(C) paragraph element only

(D) table element only

T =R 1 Wihd w3 & forg Aldhe =
(A) CTRL+AIlt+Shift+G

(B) CTIRL+AIt+G

(C) CTRL+ Shift+G

(D) CTRL+AIt+Shift+0

Shortcut keys to activate Gaussian Blur :
(A) CTRL+AIlt+Shift+G

(B) CTIRL+AIt+G

(C) CTRL+Shift+G

(D) CTRL+AIt+Shift+0

65.

66.

THIHE WIEd ¥ie & IR | 1 99 TE § 2

(A) FE T 3Ter SirgHe & fad ot deaey
Fraw wfha €

(B) U Thewe h YSIo¥M H TCHT hidl § TfehA
1 areft oft o & e | weiTed §

(C) I hoe 3R WEA I STH- T Higal
H fawfor s 7

(D) o' 99 feoER iR TF He=e aAfeR &I
YR B 1 H i A a1 §

What is not true about External Style sheet ?

(A) Itis a separate document that contains
only CSS rules

(B) It separates content from the

presentation but both are still contained
in a single file

(C) It separates the content and style into
separate files

(D) It allows a web designer and a content
author to work in parallel

TR JS T o IR H A e i 9ga

Ead

(A) <=d9d STt o o fora - {{expression}}

(B) TH TTefgea & A3y faarn
ng-bind="expression”

(C) TioTee Jieh oef wirern € STl werie feran
TR

(D) gg,w JS THRISYH SEhe TRAUe H $1er

Identify the invalid statement about Angular
JS Expressions.

(A) written inside double braces:
{{ expression }}
(B) written inside a  directive:

ng-bind="expression”

(C) return the result exactly where the
expression is written

(D) Angular JS expressions are different
from JavaScript expressions
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67.

68.

69.

3 TH AUS H CSS THIS T B |
(A) <html> (B)

<style>

(C) <css> (D) <xml>
tag embeds CSS in a webpage.

(A) <html> (B) <style>

(C) <css> (D) <xml>

WIER JS H ng-repeat directive % & H 1 TRl

T e ?

(A) TH HTML UeiHe 1 3rear §

(B) IR H YA 3A3eH o foall Teh IR HTML
TEATHSH 1 FAM Bl ©

(C) TS & Teh W R YANT fohan i §

(D) TeR JS TfeteheM & forg grifyen a1 <l
afeunfir e §

What is not true about ng-repeat directive in
Angular JS ?

(A) repeats an HTML element

(B) clones HTML elements once for each
item in a collection

(C) wused on an array of objects

(D) defines initial values for an Angular JS
application

SEehe H T dRUEe i ALY W i &
fere forg STt o1 3w feman STan © 2

(A) instanceof

(B)  gettype

(C) typeof

(D) W § F HIE T

Which operator is used to get datatype of a
variable in JavaScript ?

(A) instanceof

70.

71.

72.

THARTHS 1 37 7

(A) FEHIYS e Hal THISYH

(B) TRITYST $& Hel THASHH

(C) TEAUS etie TS THIevH

(D) TeEYST S HES TR

MIME stands for .

(A) Multipurpose Internet Mail Extensions

(B) Multipurpose Instant Mail Extensions

(C) Multipurpose Internet Message
Extensions
(D) Multipurpose Instant Message

Exchange

qeds++ ° el &1 B & fau widse
i .

A) Alt+H

B) Shift+H

C) CTRL+H

D) WK H ¥ &L T

Shortcut keys to hide lines in Notepad++ :
(A) Alt+H

(
(
(
(

(B) Shift+H
(C) CTIRL+H
(D) None of the above

frefafed § 9 1 HTML § Tk YR 1 BhiF
TH T § 2

(A) STEHH (B) IHH

(C) % (D) HHEe

Which of the following is not a type of Screen
frames in HTML ?

(B) gettype
(C) typeof (A) iframe (B) uframe
(D) none of the above (©) no frame (D) frameset
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73.

74.

75.

o T T Ol 3T SUA E
fere feen T %1

(A) TH GoloRM i Fodld el o8 st forsdt
3 2 | Y Tk o

(B) TR | Tl ok TA T T T A
(C) TR foqa & & fag
(D) T 9 & ff T

Lasso tool is best used for :

(A) Cleaning up a selection that you started
with another tool.

(B) Deselecting the selection already done
(C) Remove a selection
(D) None of the above

frefafea § 9 fom fR9 1 399 TER JS
TR 1 YR T o fere foman smen & 2

(A) ng-repeat (B)
(C) ng-app (D)

Which of the following directives is used to
start an angular JS application ?

ng-init

ng-model

(A) ng-repeat (B) ng-init
(©) ng-app (D) ng-model
TR T SIS S T
(A) font-length : bold
(B) font-weight : bold
(C) font-style : bold
(D) text-align : bold
makes the text bold.
(A) font-length : bold
(B) font-weight : bold
(C) font-style : bold
(D) text-align : bold

76.

77.

78.

JIYS 1 oaH HEAQU <head>
TeliHe & Ty Tk HheR B

(A) ferm

(B) dauts™

(C) T

(D) foeres

The most important <head> element of a
webpage is a container for :

(A) Links

(B) Webpages
(C) Metadata
(D) Pictures

3 FZR i T8aH &L S HTML 5 & TR T
T T ?

(A) HT (B) M

(C) T (D) YUK |t

Identify the browser which can render
HTML 5 tags.

(A) Safari (B)
(C) Edge (D)

Chrome
All the above

W3.Font # 8™ & felq =M @1 e & &l

€7

(A) Segoe Ul &fémd & foru fewice i ¥

(B) Segoe UI 3TfeeR T ol WfET §

(C) zfemq, efemq o om de o 31ar & o7gAfa
< &

(D) T BT &M 31 <h6> ¥

Which statement is not true for the headings

in W3.Font ?

(A) Segoe Ulis the default font for headings

(B) Segoe Ul has a more narrow letter
spacing

(C) Headings allow a lesser number of
letters in the headings

(D) Smallest heading tag is <h6>
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79. TIST WEd ¥ % IR H 91 Tl L § 2

(A)

(D)

Taee WA e Th HYuf CSS T&Es
H Toh XHTML &S & & 96 |

TS HE H weH S ©

FAH Uil &1 YN Toeg WEd e
T fopan ST ®

Jielt aca w1 JhR fasivar Aedqdd geme
el TRIeYH (MIME) WehR o1 fafqse shaat
T Sl 1SS i G S UM HT §

guft e wd &

What is not correct about Embedded Style
Sheets ?

(A)

(D)

Embedded style sheets enable to embed
an entire CSS document in an XHTML
document’s head section

Class Selectors are used in Embedded
Style sheets

The style element’s type attribute
specifies the Multipurpose Internet Mail
Extensions (MIME) type that describes
a file’s content

All the statements are correct

80.

81.

w3-panela?ﬁ3faﬁaﬁ?@wg@%:

(A)

(D)

w3-panel FAE e Y& 0 & fag
THH T T |

w3-panel I g TRRIA HH & fog
THSH TR E

w3-panel RIH 3T YRR & o g
THSH TE F |

BERUCRE R

Which statements are correct regarding
w3-panel ?

(A)

w3-panel class is perfect for displaying
notes.

w3-panel class is perfect for displaying
quotes.

w3-panel class is perfect for displaying
alerts.

all statements are correct.

Heaud H Yeimd (PseudoClass) & oY H
T S <l TEE Y :

(A)
(B)

©)

(D)

g CSS H Uit Ush =R 9™

T g i ew § o9 w9 9 =iftg
Tl R TE WA O UET S HI §
YEIoATd i TelTHe o M 9 3TShR g1
e fepan S ©

YEIoA™ & TeltHe & 919 9§ T hidd
FIUEGURCRIRC IR

Identify the incorrect statement about a
PseudoClass in CSS.

(A)
(B)

©)

(D)

It is a style class defined in CSS

It gives the author access to content not
specifically declared in the document

Pseudoclass is separated by an
underscore from the name of the
element

Pseudoclass are separated by a colon
from the name of the element

Page 18/11

SPACE FOR ROUGH WORK

M2-R5/01-23



82.

83.

T 9fg I HIT HE

(A) ZHS 1 hod RITRE FeM & fog

(B) forelt ot TRR kT Wfsham A1 ST=R ST UThfaah
E % 1 T GEfed a1 e §

(C) harel 3HSI 1 SRUTRE sgM o fog

(D) = @ FE & T
Color enhancement refers to
(A) Enhance only foreground of image

(B) Any type of process or treatment that
modifies or enhances the color of a
natural diamond

(C) Enhance only background of image

(D) None of the above

STEMfERE I sl GO IR | = & fag
fohg SIS 1 TN BT ATTEIF © ?

(A) var
(B) let

(C) const

(D) W § § HIE T

Which keyword is a must to use when
JavaScript code is to run in older browser ?

(A) wvar
(B) let
(C) const

(D) none of the above

84.

85.

86.

SRR W3AC STRIET a4 & T 9 9t

i | CSS fafsen =ifia feman 7o o :
(A) CSSlevel 2 (B) CSSlevel 0
(C) CSSlevel 1 (D) CSS level 2.1

Which CSS specification was first declared to
become an official W3C Recommendation ?

(A) CSS level 2 (B) CSSlevel 0
(C) CSSlevell (D) CSS level 2.1

SaTfere o afuse &1
ek ST Tl fenan ST weh |
(A) wvar

(B) let

(C) nothing

(D) set

Variables in JavaScript cannot be declared
using :

(A) wvar
(B) let

(C©) nothing
(D)

T A

D) set

I G FAH WU TS R I A 2
(A) w3-opacity

(B) w3-trans

(C) w3-grayscale

(D) ST § § HIE T

Which class property makes an image
transparent ?

(A) w3-opacity
(B) w3-trans

(C) w3-grayscale
(D)

D) None of the above
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87.

88.

89.

LIS S

(A) Tagenra @l 1 Th Yehish
(B) el Wit Sevie T WEA €
(C) 3T T WA & foru stavash

(D) JETEE S ggal TS

An index page is

(A) an index of encyclopedia articles
B) where all Internet data is stored
required for access to the Internet

the first page of a website

.edu STHT 47 W0 © 2

(A) TIhYH SEA

(B) AT S

Q) F-afi SmA

(D) TESAHe SHA

What does the .edu domain represents ?
(A) Education domain

B) Commercial domain

E-Learning domain

D) Entertainment domain
W3.List § %1 T dfcrs fowe 25y & § 72
(A) Small (B) XSmall
(©) Large (D) XLarge
Which is not a valid list type in W3.List ?
(A) Small (B) XSmall
(C) Large (D) XLarge

90.

91.

Tfere <input> &1 “type” Torgrwar 7 =1
TEEH
(A) et (B) <eheiied

(C) wafe (D) TR

Identify the invalid <input> tag “type”
attribute value.
(A) radiobox (B) checkbox

(C) submit (D) text

fafiye feafaai & R W fafve feamst =1 =
¥ fau feg SEfere wede &1 3y foa
TS ?

(A) if
(B) for
(C) while
(D) switch

Which JavaScript statement is used to
perform different actions based on different
conditions ?

(C) while

(D) switch

Page 20/11

SPACE FOR ROUGH WORK

M2-R5/01-23



92. frefafed # | forgert g fEe (Directives) | 94. e o Tl FHA FHARM g fohd Tehicl

o ITFA (prefix) % €9 H fohal S Fehal § 2 T I9ANT foharn ST © 2
A = (A) B) T
(C) dSid/emd (D) e
B) ng-
(®) ng What protocol is used by all computer
. connections to the Internet ?
(©) (A) ¥R (B) T
(A) UDP (B) FTP
(D) ST H § e T (©) TCP/IP (D) Telnet
Which of the following can be used as a prefix
for Directives ? 95. Tgcl SHEIRM Teld B T qU&0 i o foT Th
(A) data T R ffm w F fm
SULHT Tendl Sldl %|
(B) ng- ( A) if
(C) Both (A) and (B) (B) else
(D) None of the above (C) elseif
(D) SR H § *IE &
is used to specify a new condition
93. SEI&hE &I T Hehdl T | to test if the first condition is false.
. A) if
(A) HTML %= )
(B) else
(B) HTML Tg&e dosl (C) elseif
(D) none of the above
(C©) HTML &Erzc™
(D) 3w |+t 96. HTML &9 H A7-Ydifess Teliticg &t 9gaH
2
JavaScript can change :
(A) <div> (B) <form>
(A) HTML Content )
(C) <table> (D) <article>
(B) HTML Attribute Values Identify the non-semantic elements in HTML
tags.
(C) HTML Styles
(A) <div> (B) <form>
(D) All of the above (C) <table> (D) <article>
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97.

98.

CSS & o H shiF |1 e &l el 2
CSS hEhTET e e
(B) UK & T hee

(C) Jaust 1 fasgeTal wieTse Tenfud i
SSUS i HIHIT T AR i

Which is not true about CSS ?

CSS is Cascading Style Sheet

(B) Separate content from presentation
Establish visual layout of a Webpage

Markup the content of the webpage

I W3.Text H A TRZ 3TAETHE FATd Tal

7

w3-left-align
(B) w3-right-align
w3-center
w3-center-align

Which is not a valid text alignment class in
W3.Text ?

99.

100.

HTTP PUT &0 Agg 1 39
ERISIGIES

(A) e e 1 sidesg dled & fag
(B) TS TTRIHINA WA & fatw

fafde < = Ha™ € 9 9o %
ferw

fafdw <zararst <l el <2 & Ty fHofed
HH & feu

©)

(D)

HTTP PUT request method is used to :
Return contents of a specified document
(B) Return header information

Replace the specified document with
the enclosed data

Execute the specified document with
the enclosed data

e =i 9 ol 3TH & fou fohg wede =
AT fopan ST ® 2

(A) exit (B) break

(C) default (D) out

Which statement is used to come out switch
block ?

(A) w3-left-align (A) exit (B) break
(B) w3-right-align (C) default (D) out
(C) wB3-center
(D) w3-center-align -00o0-
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